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QUESTION 1

Per a customer request, a vSphere administrator increases the number of vCPUs in several VMs within a cluster. After
the vCPU increase, the upgraded VMs exhibit slower performance. The vSphere administrator uses esxtop to check
ESXi host performance. 

Which two counters should be checked to detect CPU overcommitment? (Choose two.) 

A. %SWPWT 

B. %USED 

C. %MLMTD 

D. %SYS 

E. %RDY 

Correct Answer: BE 

Reference: https://www.simongreaves.co.uk/esxtop-guide/ 

 

QUESTION 2

Which action should be taken to ensure vSphere Update Manager (VUM) is available? 

A. Download VUM from myVMware. 

B. Consider Windows based vCenter for compatibility. 

C. Enable VUM in the vSphere Client. 

D. Install VCSA. 

Correct Answer: C 

 

QUESTION 3

A cluster of vSphere 6.5 and 6.7 hosts all have identical hardware. VMs are created on the 6.7 hosts with virtual
hardware version 14. During routine maintenance on the 6.7 hosts, the VMs are unable to migrate to the 6.5 hosts. 

Why are the VMs unable to migrate to the 6.5 hosts? 

A. The virtual hardware version is incompatible with 6.5 

B. VMware Tools version is upgraded 

C. EVC mode is disabled 

D. DPM is configured incorrectly 

Latest 2V0-21.19 Dumps | 2V0-21.19 VCE Dumps | 2V0-21.19 Practice Test                                2 / 3

https://www.leads4pass.com/2v0-21-19.html
https://www.leads4pass.com/2v0-21-19.html
https://www.leads4pass.com/2v0-21-19.html


https://www.leads4pass.com/2v0-21-19.html
2024 Latest leads4pass 2V0-21.19 PDF and VCE dumps Download

Correct Answer: C 

 

 

QUESTION 4

An administrator is deploying a new mission critical database. The database requirements are 12 vCPUs and 24GB of
RAM. 

What can the administrator enable for the lowest possible downtime? 

A. DRS 

B. vSphere replication 

C. fault tolerance 

D. proactive HA 

Correct Answer: D 

 

QUESTION 5

Which two actions should an administrator take to ensure a VM has the highest networking bandwidth? (Choose two.) 

A. Configure traffic shaping 

B. Configure LACP 

C. Configure resource pools 

D. Configure shares, reservations, and limits 

E. Configure marking and filtering 

Correct Answer: BC 
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